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20229 2E=2 £ H AMNSEL R
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e &9 Al & z o il
= 68,782,466 42,071,150 26,711,316 |20234H = &toi o] &

SHERSINE (£191 + 91)

HIX S 59 3
o | LB
ALISAT | HAHNUFTAS
S 68,782,466 30,822,057 10,000,000 27,960,409

HMASo|E= 11,581,436 11,581,436 - -
14 4,384,500 384,500 4,000,000 -
2 1,374,500 774,500 600,000 -
3 2,135,000 1,595,000 540,000 -
44 1,927,360 387,360 540,000 1,000,000
oF=! 4,169,500 3,529,500 540,000 100,000
6 14,627,296 1,527,259 540,000 12,560,037
7 7,759,500 2,119,500 540,000 5,100,000
8 4,479,500 1,939,500 540,000 2,000,000
92 9,313,100 1,673,100 540,000 7,100,000
104 2,162,000 1,522,000 540,000 100,000
[RE=! 1,985,500 1,445,500 540,000
124 2,883,274 2,342,902 540,000 372
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0 0] 126,000 [MIEl 2H s D =& 0]
3 W rrm 168,150
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INEETE]
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JIEF2 2| 3443.000 |1 cogym o ert e i
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BB SHER S S S A 9,747,490 ;}59% JEM%&IT%, JZOU}@QI%, oe
] 27,960,000
1,000,000 [S2Z1d CHR oAbt &b XA EE Ot
500,000 |KT&GSAIMEH 8 SIS BHEAI 9 M7 Jb
5,000,000 |710FTHR JlTi Z el sl US A $1I1b 21 SA
Al o SEHEN(LEE) ALY
MEBEE oy 2,000,000 [Al0l2T & =gl De|0f AH4SI1Eo0ks Al
2,000,000 |KRCS50{ZS A o 2u, A7 | |2
5,000,000 |2 =1 CHRSH/8HP 20k 50| Y WSt
CHDH & SR ALY 12,460,000 |ITHZ S 1%L M ErALR! "TEEH F =8l




SAUZ 59 U AR WY

o At 7 = < HAH AN 2 A =SZER T =g = % (H) ]
2.21. AYAte U= Tk CH ek AL &1 Al () 4 Box 100,000
3.2. AYGAe H=S o CH &b AL Q1A S0tE23(HY, H, 0%) 220 i 3,676,000
3.10. AYAtel U= s CH ek AL &1 A S (LA, &) 85 Wi 1,490,000
3.10. AYGAel H=S = kk CH &b AL Q1A A S () 3 i 90,000
3.10. AYAtel U= mEE CH ek AL &1 AE () 1 Wi 66,000
3.10. AGAte H=S 0] s CH2FAE S| Al S () 1 | 66,000
3.10. AAtel U= M e CH2PAE S| Al S (2HH) 30 Box 495,000
3.10. AGAte H=S o CH2FAE S| A2 Z(ES) 150 | 1,320,000
3.15. AAtel U= O s CH2PAE 1A AME(ER) 15 Box 79,500
3.21. AGAte H=S %% CH2FAE S| A S () 4 Box 100,000
3.31. NGt =H=S Off s CH&F AF A AE (Y, dEF) 7 M 230,000
4.11. A9t =H=S Off CH&FAF A A S (2HA 3 Box 150,000
4.15. A9l =H=S Off s CH&f AF A AE(AANT) 4 Box 80,000
4.18. AGAte H=S O s CH &AL QA oF@IZL) 40 | 140,000
4.20. AAtel U= ok CH &b AL Q1A Al S () 4 Box 100,000
4.28. NAtel =H=3 O s CHerAE A AMSAAR, d5) 10 Box 175,000
5.2. NAtel =H=3 M e CHetAE A SretEtd i &) 100 H 1,500,000
5.6. AN =H=S s CH&EAE S1A| Ol Sl (uH= 26 Box 480,000
5.9. NAtel =H=3 L 5 CHetAE A o7 (01 2¢2d), &It A) 560 Box 2,320,000
5.10. N Atel =H=3 M s CH &P AE A Thah(OfA~=3) 96 Box 1,152,000
5.11. A 2H=s ek CH&E AL 2 ol 2 Box 10,000




2 X} 7 = < HAH AN 2 A =557 e =0 = % (H) 1
5.12. AYGAtel =H=S Off 5 CH &b AL Q1A A S (2EAH 3 Box 15,000
5.12. AYGAel H=S Skl CH ek AL &1 Tel(R 2 LAPDIZIEIE) 4 Box 400,000
5.13. AYAte H=S 2k Z20H 0| At el (=EolA) 200 M 560,000
5.13. AYGAel H=S CH s Z2 W 0| AL olofE 42 H 209,000
5.18. AYGAtel =H=S GE Z20H 0| At AMS(ASE, Hl) 9 Box 220,000
5.18. AYGAel =H=S = e Z2 W 0| AL At S5 4 Box 120,000
5.19. AGAtel =H=S Off s CH &b AL Q1A AMEER) 5 Box 135,000
5.19. AYGAel =H=S B CH &b AL Q1 A1) 2 Box 40,000
5.20. NGl =H=S ok CH &b AL Q1A Al S () 4 Box 100,000
5.24. AYGAel =H=S T e CH &b AL Q1A AlE(EHA) 9 Box 300,000
5.26. AGAe H=S SEE Z2H 0] &AL Mt E(d) 3 Box 110,000
5.28. AAtel U= Tk Z2 W 0| AL Al S () 200 N 400,000
6.8. A9t =H=S == Z20HW 0| At Al S () 4 Box 100,000
6.13. A9l =H=S Off s CH &b AL Q1A AME (S5, 24HAD 6 Box 510,000
6.16. A9t =H=S Hx* AHEI TH & A AMEF 2 Box 200,000
6.27. NAtel =H=3 O s z20H 0| EAL A S (LEAL A4, A A) 10 Box 160,000
6.28. NAtel =H=3 == Z20H 0| AL Al S () 4 Box 100,000
7.11. NAtel =H=3 NY s Z20H 0| S AL et 200 H 704,000
7.12. NAtel =H=3 == Z2H 0| SAL Al S () 4 Box 100,000
7.13. NAtel {53 Lok AHdl CHF AL AMNSF 2 Box 200,000
7.19. AGAe 2H== O % Z=20H 0| 2R} AS (M) 15 Box 225,000




o At 7 = < HAH AN 2 A =557 e =0 = % (H) 1
7.24. AYGAel =H=S oM s CH ek AL &1 A& (-0 20 Box 700,000
7.26. AYGAel =H=S O] s Z20H 0| AL A S (2EAH 1 Box 20,000
7.26. AYGAel =H=S ESR Z2 W 0| AL Al () 4 Box 100,000
7.26. AYGAel =H=S O] s Z20H 0| AL AMS () 5 Box 75,000
8.2. AYGAel =H=S = e Z2 W 0| AL 2 Mol A A, A, S, 8h 176 P 176,000
8.9. NGl =H=S 2= Z20H 0| At Al () 4 Box 100,000
8.11. NGl =H=S Off s CH &b AL Q1A AS0E5S, 24D 6 Box 90,000
8.11. NGl =H=S ok CH &b AL Q1A Al () 3 H 75,000
8.11. NGl H=S Off s CH &b AL Q1A Thol(ahatE) 280 M 392,000
8.17. NGl =H=S Ofsx Z2H 0 A} YeHOt=HMEME) 40 H 540,000
8.18. NGt =H=S Ll AHEITH &AL AMEF 2 Box 200,000
8.22. A9t =H=S NEE Z20H 0| AL M2t 2 (- LAMA) 300 H 1,080,000
8.24. A9l =H=S Ad sk Z2 W 0| AL o5 2 Box 20,000
8.25. A9t =H=S O s Z20HW 0| At MBS, =) 28 Box 420,000
8.26. A9l =H=S Tk CH&f AF A Al S () 4 Box 100,000
8.26. NAtel =H=3 [ s CHerAE A A2 EZ(2HEA 9 Box 200,000
8.26. NAtel =H=3 J e CHetAE A oot 120 H 60,000
8.29. NAtel =H=3 O % Z20H 0| AL A S (LEAL, A 4) 15 Box 240,000
9.3. NAtel =H=3 @k Aredl CHF AL AS(EH) 100 M 700,000
9.3. N Atel =H=3 O sk AHed CHF AL A (EHH) 112 Box 700,000
9.3. A Ate =d=5 Q@ ke Z20H 0| EAL A Z019) 40 M 600,000




SAUZ 59 U AR WY
o At 7 = < HAH AN 2 A =SZER T =g = % (H) ]
9D AYAte H=S EE AHA CH 2 A A S (=) 60 M E 750,000
9.7. AYAe U= o e WIS IUEEIN; 2P (E) 4 Box 40,000
9.14. KA SHSS =S Z=2H 0| =Xk Al S () 4 Box 100,000
9.20. AYAe U= T e AHEITH &AL AE5F 2 Box 200,000
9.27. AYAte H=S &k e Ul A IS (TV) 1 i 50,000
9.27. MM 2HSS ok Z2 W 0| AL SehotA~ =) 40 Wi 200,000
9.30. AGAe H=S %% AIEL Ol S A} A S () 4 Box 100,000
10.12. AAtel H=S mEE AHed| CH2F A AE5 2 Box 200,000
10.21. AGAte H=S %% AIEL Ol S A} A S () 4 Box 100,000
10.21. AAtel H=S Bk AHed| CH2F A et S 20 Wi 1,000,000
10.24. AGAe H=S O s Z2H 0] &AL AMBAEE, B8) 185 N E 226,000
11.10. AALS SHSS NH s AHeA CH2F A AlE () 250 Box 6,500,000
11.11. A9t =H=S Tk e O E AL A S () 4 Box 100,000
11.15. A9l =H=S Off s e O E AL AME(E=, ASF, 2HAD 23 Box 230,000
11.16. AGAe H=S T ok AHEI TH & A AMER 2 Box 200,000
11.19. NI =H=S Tk Z20H 0| S AL Al S (M) 180 N 324,000
11.25. AN =H=S ZS e Z2H 0| SAL Al S () 4 Box 100,000
11.26. NI =H=S =k AR Ol S AL J|EH(IED 2000 o 1,800,000
11.28. AN =H=S e Z2H 0| SAL Al S () 42 N 250,000
11.28. NAtel {53 DCs AR Ol AL A2t 2S5 (SE) 96 H 288,000
12.7. AYAtel =H= Tk AIE] O = A} AS(EA) 32 Box 32,000




SAUZ 59 U AR WY
o At 7 = < HAH AN 2 A =SZER T =g = % (H) ]
12.8. AYAte U= mEE AHAI CH 2 A AE5F 2 Box 200,000
12.11. KA SHSS JCoesk AMIEL Ol At Al S () 100 M 200,000
12.15. AYGAel =H=S Tk e O E AL AE () 4 Box 100,000
12.20. AYGAel H=S Rt AR TH &AL A2 EFHH), A3 (ER) 38 Box 599,000
12.20. AYAtel U= Rl WIS IUEEIN; A S AD 5 Box 150,000
12.20. AGAte H=S Y s AHEI TH & A AIZ0I013) 14 | 472,000
12.20. AAtel U= kK AHAITH A S0rES0IMA) 18 Box 820,000
12.28. NGl =H=S Off s AIEL Ol S A} ANB(EE, W) 423 36 Box 273,750
12.29. AAtel U= kK AIEL Ol S AL Al S () 4 Box 100,000
g Al 6,548 41,020,250




